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PART A
(Answer all questions.;  eac-li i|uest;.o!i c{irries 3 mfarks)

Dct`ine the term agent. Explain with an cxalT€ple.

I)et`ine PEAS and explain with an example.

State the searching process with an examp!c.

Dil`ferentiate between Breadth First Search iind  Best  I.`irst Search.

State the components of a CSP problem

Def`me path consistency with an e,\ampie

Deft.n,e the term Logic and Entailment

Convert the following statements into propQsitional  logic

•     If it is raining, then the ground will bewet.

•   -Hari is hardworking and intelligent

Explain about supervised leaming

Explain about reinforcement leaming

PART 8
(Answer one full question firom each module, each question carries 14 marks)

Marks

3

3

3

3

3

3

3

3

Module -I

11     a)    For the following activities, give a pEAs description of the task environment and

characterize it in terms of the task environment properties.

i)    Robot vacuum cleaner
ii)   Driverless cars

b)    List any five applications ofAI.

12    a)    Differentiate between utility based agent and Goal based agent.

b)    Explainthe properties of task environment.

Module -2

13    a}    Explain   Uniform   cost   search   with   the   search   evaluation   strategies   such   as    7

completeness, optimality, space and time complexities.

Page 1 of 3



1100AIT307112403

b)    Compare Depth first search and iterative deepening search strategy with example.    7

14    a)    Statethe advantageand disadvantageofA* algorithm and how it usesthe heuristic     14

function   with   an   example.   Also   explain   its   evaluation   strategies   such   as

completeness, optimality, space and time complexities.

Module -3

15    a)     Solve  the  following  cr}.pi  arithmetic  problem  by  hand,  using  the  strategy  of    io

backtracking with  for``ar`--i`hccL-:r.i and the MRV (Minimum Remaining Value)

& least-constraining-v all:+_  *euri`! i```

TWO+TWO=Fol; R

b)     What is node consistenc}  -i`l\\  it  :i ±irTer i-rom Arc consistency.

16     a)     Explain backtrac'hing >L-d.-.r.  `in C `.`  \`ith  a;4] €.`ample of4 queens problem.

b)     Illustrate the working  Li!`  Li--aha-h=!i=  pruri;r:g.

\Tndu'€ +

17    a)    State the architecture of-knowledge base agent and functions used in the agent.          8

b)     Explain unificatii`n a!gl`riiL:n.in wil.:n. an example.

18    a)     Convert the follouJing ser„.€nces !r!{o FOL.

•     If someone studies, they pass the exam.

•     There exists a student who takes both Math and physics.

•     Everyone has at least one friend.

•     A student who studies hard passes the exam.

•     There isacatthatisblack.

•     All passengers on a flight must have aticket.

•     A motheris a female parent.

Module -5

19    a)    Give the significance ofleaming from example. Explain various type ofleaming    8

in problem solving.

b)    Explain about under fitting and overfitting.                                                                                6

20    a)    Explain Decision Tree with example.                                                                                          4

b)    Consider the following data set comprised of three binary input attributes (Al  ,          10

A2 , and A3 ) and one binary output®
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Use the DECIS=33`T-TREE-LEARNING algorithm to learn a decision tree ±`|ir

these data.  Shc)i+i.  the cc¥rrLpiitatio!n.s made to determine the attribute to split :]t

each node.

***
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